Name:

What Operator?

Score:

Use the PEMDAS/BODMAS rules and find the missing operator!

(18 -6) ()2

(10 -6) () 2

9 (+) (8 + 4)

@8+2 ()5

— 6 3 x 5( )2 =17
—- g 6 ( )©=+3 =18
= 45 (13-5()2= 4
= 11 9( ) ®6+2) =27
— 12 83 +2( )8 =99
= 2 20-5()3=75
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Answers

Use the PEMDAS/BODMAS rules and find the missing operator!

(18 -6) (=) 2 = 6 3 x 5(H)2 =17
(10-6) (x) 2 = 8 6 (X) (9+3) =18
20 + 5 (X) 5 =45 (13-5 ()2 = 4
9(+) 8+4 =11 9 (X) (6 +2) =27
3 x 8 ()2 =12 83 + 2 (X)8 =99
8+2) (£)5= 2 20-5 ()3 =5
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